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Fa 0 on boundary is automatically satisfied

by boundary equation
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4 a) Lame's equations
For = A. B 500 = A + B

r2 v2

r = D frr = A = X

V = a Gru = 1 - B = · -> B = 4
al

Su = 1 - 4ax = x(l-5 r2

800 N+ (
1) Note that Soo * Gr * Szt = 0

At the hole boundary with V = a according to Tresen :
600 - 0 = Y - X =

5rY
42+ 5r2

c) Equilibrium equation the same whether elastic or plastic
d (rfrr) = Goo
dr
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In the plastic region : Foo= ·

a
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dr
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Fru = Y + D
Hole boundary
r = aSn = Y+ 1 = 1 = D = a)]Y)

= Gr = Y+ q(j - Y)
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